

1. $17\frac{1}{2} + 4\frac{1}{6} =$

2. $4\frac{7}{11} - 1\frac{1}{4} =$

3. $7\frac{1}{6} + 9\frac{3}{4} =$

4. $3 + \frac{13}{3} - \frac{2}{5} =$

5. $\frac{10}{3} + \frac{11}{4} - \frac{2}{9} =$

6. $\frac{16}{3} - \frac{13}{5} + \frac{8}{3} + \frac{13}{9} - \frac{15}{7} =$

7. $5\frac{1}{2} + 1\frac{4}{9} - 3\frac{1}{4} =$

8. $\frac{6}{7} + \frac{5}{8} - \frac{4}{7} =$

9. $1\frac{1}{6} + 2\frac{1}{4} - 1\frac{1}{3} =$

10. $\frac{3}{4} - 1\frac{1}{3} + 2\frac{1}{4} =$

11. $1\frac{1}{4} - 4\frac{1}{4} + 1\frac{1}{3} - 1\frac{2}{9} + 3\frac{1}{3} =$

12. $\frac{3}{2} - \frac{2}{3} =$

$1 + \frac{9}{8} =$

13. $6 + \frac{1}{2} =$

$2 + \frac{11}{4} =$

14. $\frac{4}{7} + \frac{1}{2} =$

$\frac{13}{2} - \frac{3}{5} =$

15. $4\frac{2}{3} - 1\frac{9}{17} =$

16. $3\frac{7}{12} + 3\frac{4}{5} =$

17. $\frac{13}{9} - \frac{1}{3} + \frac{7}{6} =$

18. $\frac{7}{3} + \frac{13}{2} - \frac{4}{5} =$

19. $2 - \frac{5}{4} + \frac{5}{2} =$

$$1. \quad 17\frac{1}{2} + 4\frac{1}{6} = 21 + \frac{3}{6} + \frac{1}{6} = 21\frac{4}{6} = 21\frac{2}{3}$$

$$2. \quad 4\frac{7}{11} - 1\frac{1}{4} = 3 + \frac{28}{44} - \frac{11}{44} = 3\frac{17}{44}$$

$$3. \quad 7\frac{1}{6} + 9\frac{3}{4} = 16 + \frac{2}{12} + \frac{9}{12} = 16\frac{11}{12}$$

$$4. \quad 3 + \frac{13}{3} - \frac{2}{5} = \frac{45}{15} + \frac{65}{15} - \frac{6}{15} = \frac{104}{15} = 6\frac{14}{15}$$

$$5. \quad \frac{10}{3} + \frac{11}{4} - \frac{2}{9} = \frac{120}{36} + \frac{99}{36} - \frac{8}{36} = \frac{211}{36} = 5\frac{31}{36}$$

$$6. \quad \frac{16}{3} - \frac{13}{5} + \frac{8}{3} + \frac{13}{9} - \frac{15}{7} = \frac{1680}{315} - \frac{819}{315} + \frac{840}{315} + \frac{455}{315} - \frac{675}{315} = \frac{1481}{315} = 4\frac{221}{315}$$

$$7. \quad 5\frac{1}{2} + 1\frac{4}{9} - 3\frac{1}{4} = 3 + \frac{18}{36} + \frac{16}{36} - \frac{9}{36} = 3\frac{25}{36}$$

$$8. \quad \frac{6}{7} + \frac{5}{8} - \frac{4}{7} = \frac{48}{56} + \frac{35}{56} - \frac{32}{56} = \frac{51}{56}$$

$$9. \quad 1\frac{1}{6} + 2\frac{1}{4} - 1\frac{1}{3} = 2 + \frac{2}{12} + \frac{3}{12} - \frac{4}{12} = 2\frac{1}{12}$$

$$10. \quad \frac{3}{4} - 1\frac{1}{3} + 2\frac{1}{4} = 1 + \frac{9}{12} - \frac{4}{12} + \frac{3}{12} = 1\frac{8}{12} = 1\frac{2}{3}$$

$$11. \quad 1\frac{1}{4} - 4\frac{1}{4} + 1\frac{1}{3} - 1\frac{2}{9} + 3\frac{1}{3} = \frac{9}{36} - \frac{9}{36} + \frac{12}{36} - \frac{8}{36} + \frac{12}{36} = \frac{16}{36} = \frac{4}{9}$$

$$12. \quad \frac{3}{2} - \frac{2}{3} = \frac{9}{6} - \frac{4}{6} = \frac{5}{6}$$

$$1 + \frac{9}{8} = \frac{8}{8} + \frac{9}{8} =$$

$$13. \quad 6 + \frac{1}{2} = \frac{12}{2} + \frac{1}{2} = \frac{13}{2} = 6\frac{1}{2}$$

$$2 + \frac{11}{4} = \frac{8}{4} + \frac{11}{4} =$$

$$14. \quad \frac{4}{7} + \frac{1}{2} = \frac{8}{14} + \frac{7}{14} = \frac{15}{14} = 1\frac{1}{14}$$

$$\frac{13}{2} - \frac{3}{5} = \frac{65}{10} - \frac{6}{10} =$$

$$15. \quad 4\frac{2}{3} - 1\frac{9}{17} = 3 + \frac{34}{51} - \frac{27}{51} = 3\frac{7}{51}$$

$$16. \quad 3\frac{7}{12} + 3\frac{4}{5} = 6 + \frac{35}{60} + \frac{48}{60} = 6\frac{83}{60} = 7\frac{23}{60}$$

$$17. \quad \frac{13}{9} - \frac{1}{3} + \frac{7}{6} = \frac{26}{18} - \frac{6}{18} + \frac{21}{18} = \frac{41}{18} = 2\frac{5}{18}$$

$$18. \quad \frac{7}{3} + \frac{13}{2} - \frac{4}{5} = \frac{70}{30} + \frac{195}{30} - \frac{24}{30} = \frac{241}{30} = 8\frac{1}{30}$$

$$19. \quad 2 - \frac{5}{4} + \frac{5}{2} = \frac{8}{4} - \frac{5}{4} + \frac{10}{4} = \frac{13}{4} = 3\frac{1}{4}$$